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Problem set 15: indefinite integrals I.

Calculate [ 2 du.
Compute [ a*dx for a > 0.
Calculate [ sin(z) cos(x) dz.

Compute [ sin@) _ 70 where it is defined.

1—cos(x)

1
Compute [ zlog(log(log(x))) dz.

Calculate [ log(x) dx.
Give [ Wlmﬂdx.
Compute [ ———
Compute [ \/2+7
What is [ ﬁ dx?

Compute fode.

Give [ 3x%e* du.

Give the solution of [ % d.
Compute [ ﬁdm.

Determine [ e” cos(z) dz.

What is [ 2®log(z) da.

What is the primitive of log(x)??
Compute [ (IZ;QI P da.

Derive f va+ bx dx.
What is [ " da?

T

dz.




